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1. fr=afafea saa ® fomar St

1. SFufafafae sifuf=m, 1951 & 910 62(5)
Sl &l 7d < ® AHR 9 ofad H 2

2. SHyfaffee sifufam, 1951 &t omr 62 o
37 uRfefaal &1 Sooig wal €, Sa TR
fdd ! Hasq & AfsR ° faa fear o
Gehdl B

ST He W W HHA-GA TE B2
(a) *ad 1 (b) e 2
(c) 1 32 g (d) Td 1 A2

. SARRA s & Hed A frfafaa woml ® fomr

EAIERE

1. 39 Sadt 2018 # sifugfea foran T o

2. WA W &% (SBI) THAT UHT HEH el
3, fores T T St ST A ok
O T SR 2

3. I dte S A #1 A 9 e S
el = ford 9w 2

4, THH TE HE o6 1 A AL e ®, F i
WE T el B

S el ¥ W HA-9 TE 2?2

(a) Fa 1,3 R4 (b) Haad 1, 2 3R 3

(c) o 2 3 4 (d 1,2,3 34

. e Ve e ® s § frefated e W

fo=m =wifs:

I, W # ed FHeE B w9 fiRa
el & wed dor faerd 8, < sifed TR
A H 50% S Bl B

2. 18 ¥ 70 99 I 3 & 9RA & A AR
(NRI 9fgd) =1 39 o1 § IMHA BH 6
srHfa <t T e

3. I8 A "arfghd & o’ o Sfad ) HT
A T LA <t B

STgF weAl ¥ U wH-9 T 7?2
(a) Weel 1 3R 2 (b) wae 1 3R 3
(c) o 2 3N 3 1,2, 313

. oYk ¥ ¥ FUGR T (EWS) STRETTT & §gs

¥ frAfafed waa | faer Fif:

1. 28 1039 wfaum (dHemem) eafufem, 2019
% qEd e9% 14 3R 15 | WA ik
91 foan T em

2. FE AF &Y W FHEAR I (EWS) & o
foren el o TRt o e § enfefe
e % fod 2

1. Consider the following statements:

1. Section 62(5) of the Representation of the
People Act, 1951 deprives prisoners of their
right to vote.

2. Section 62 of the Representation of the People
Act, 1951 lays down the circumstances under
which a person may be deprived of the right
to vote.

Which of the statement(s) given above is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and2

. With reference to Electoral Bonds, consider the

following statements:

1. It was notified in January 2018.

2. The State Bank of India (SBI) is not the only
institution that has the authority to issue and
encash electoral bonds.

3. The Electoral Bonds are valid for fifteen
calendar days from the date of issue.

4. It does not contain the name of the donor, it
is completely secret.

Which of the above statements are correct?
(a) 1,3 and4 only (b) 1,2 and 3 only
(c) 2and4 only (d) 1,2,3and 4

. With reference to the 'Old Pension Scheme',

consider the following statements:

1. Under the scheme, the employees get a pension
under a pre-determined formula, which is
equal to 50% of the last drawn pay.

2. All citizens of India (including NRIs) in the
age group of 18 to 70 years were allowed to
join the scheme.

3. This plan assures lifetime income even after

retirement.

Which of the above statements are correct?
(a) 1and 2 only (b) 1 and 3 only
(¢) 2and 3 only (d) 1,2,and 3

. With reference to Economically Weaker Sections

(EWS) Reservation, consider the following

statements:

1. Ttwasintroduced under the 103rd Constitution
(Amendment) Act, 2019 by amending Articles
14 and 15.

2. It is for economic reservation in jobs and
admission in educational institutions for
Economically Weaker Sections (EWS).
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3. I8 % 3N Tl SFl 6 G & EWS Wi
AN Y HE § G&H T B

ST el W W wA-G/H T 2/R?
(a) ®aa 1 (b) ®ad 3
(©) 2 @R 3 @ 1 %k 2

5. frfafea woAl W foer #ifsa:

1. fafewr smem & <A 9Ra oA stfuftEd
1961 % T&d oK e i @@ H TaR
® U 1 TS TR T oem

2. 9RA oA SAfufEm 1935 & STER TSIUe
F W THR hl TAE & R T H
HE HT qEAE fomar T e

3. 1935 & 9Ra vmeH srfufray § Tsadre i
T YA 7@l el

ST He W W HHA-A TE B2
(a) Had 1 (b) HaA 2
(c) 2 W3 ) 1 3R 2

6. Th3it =g (a==i 1 S@WE SR HI)
sfufrem, 2015 & §3d ¥ f=fafad weal ™
fo=m =wifs:

1. 9% Jfee YA § $9-9-%H Th STHi
Tl A FHeAw Ifard AE & €9 H A
HET =AM

2. vy el i v | w fawim qferw st
T TATTAT T ST

ST oAl ¥ 9 HA-T/A T 2R

(a) ®aa 1

(b) Had 2

(¢) 1 @ 2 =H

(d Fd 1 A2

7. Jat =ell % ford U SAufafnT 3R SRAtdrnT
fremi & gy o frafafe wam ® four wifsa:
1. ot 9rdg wd fadsht efifasm <el =1

gfafed 30 fae & ford uefeq = sHfea =t
AT gERa e Aferd gl

2. HEHE & WY gURY & foad 9d sTmfa
FI AETIRd TR g, FIA Yd G A
Fapf

3. U feen fer wrdE el 9 fadsht =met
1 sl W B ATAM 2d 2

STgF weAl ¥ W wH-9 T ©?
(a) o 1 3R 3 (b) ee 2 3R 3
(c) ol 1 3R 2 (d 1,2 33

3. It enables both the Center and the States to
provide reservation to the EWS of the society.

Which of the statement(s) given above is/are

correct?
(a) 1only (b) 3 only
(¢) 2and3 (d) 1and?2

5. Consider the following statements:

1. During the British rule, the post of Governor
was formed under the Government of India
Act 1961 under the supervision of the
Governor General.

2. According to the Government of India Act
1935, provision was made for the governor to
act on the basis of the advice of the provincial
government.

3. The Government of India Act of 1935 did not
provide for some special responsibilities and
discretionary powers to the Governor.

Which of the statement(s) given above is/are

correct?
(a) 1only (b) 2 only
(c) 2and3 (d) 1and2

6. With reference to the Juvenile Justice (Care and
Protection of Children) Act, 2015, consider the
following statements:

1. At least one officer in each police station
should be designated as Child Welfare Police
Officer.

2. A special police unit will be set up in every
district and city.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(¢) Both 1 and?2

(d) Neither 1 nor 2

7. With reference to the new uplinking and
downlinking rules for TV channels, consider the
following statements:

1. It will be mandatory for all Indian and foreign
television channels to broadcast content of
national interest or public interest for 30
minutes daily.

2. Prior permission is not required for live
telecast of programs, only prior notice will
be sufficient.

3. New guidelines allow uplinking of foreign
channels from Indian teleports.

Which of the above statements are correct?
(a) 1and3 only (b) 2 and 3 only
(c) 1and2only (d) 1,2and3
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‘qRd | T’ & ged H frefafad we

foar #ifsa .

1. T5F9E H HE WEHR N gE T
S GHA © AfEd ST gR BRIl TEl S
bl 2

2. TEHIT U & FEETd U8 ¥R e B

3. T AbReR U & favg werfEm
T o Hehel B

ST oAl § 9 HA-T/E T 22

(a) e 1 (b) 2 3R 3

(c) Haa 2 (d) 131 3

. T T AR & e | frAfafad weomt

T foar Sifsa:

1. T8 SR @A ORI g % S
1 Tl I I T

2. odEF H wra gt gt @ giad-aar sk
ol =76 @ IREdEd ® SgAt a2

ST For 9 HHA-UA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g (d) a1 A2

T TEEnEE 99 (ACU) & G’y | fAfafea

HoAl W fo=m wifsE:

1. SHHT TAOA 1974 H TodE H GIH T
el 3 |HEIfSe ST &1 9ed Wt
T ot

2. 9Rd, WA qeM, sficidr onfg 3o &
FEA dF T GLIUE T

3. THHI 3IT¥F g MUR W UH TH-_A
% ford 95 <M & " A w1 giae
EH T B

Swde HoAl W 9 wE-9 T 2?2

(a) wael 1 3R 3 (b) aa 2 3R 3

(c) o 1 3R 2 (d 1,2 3R 3

Tifger =fifq wfafa & ged o Frefafea wee =

foam wifsE:

1. TEnfad (2016) SIREtsTE sIfufm 1934
% TEd H% TR I 5 WEE Wigeh it
ftfy &1 e FH H AUFER B

2. IE HEEHIG AT P W HE ® o
SMavash HAifd X w1 FuRer waft, stowdt
dehl T ST B

STgF weAl ¥ W wH-G/A e 2R?
(a) e 1 (b) Heret 2
(c) 1 3R 2 g (d) a1 A2

10.

11.

With reference to 'Governor in India', consider the
following statements :
1. The Governor can be appointed by the Central
Government but cannot be removed by it.
2. The Governor holds office during the pleasure
of the President.
3. The State Council of Ministers can bring
impeachment motion against the Governor.

Which of the statement(s) given above is/are
correct?

(b) 2and 3

(d) 1and3

With reference to Internationalization of Rupee,
consider the following statements:

(a) 1only
(c) 2only

1. This includes promoting the use of local
currency in cross-border transactions.

2. Currently India allows full capital account
convertibility and full current account
convertibility.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2
With reference to Asian Clearing Union (ACU),
consider the following statements:

1. It was established in Tehran in 1974 on the
initiative of the United Nations Economic and
Social Commission.

2. India, Pakistan, Bhutan, Sri Lanka etc.
central banks of the country are its founding
members.

3. Itsobjective is to facilitate payments between
member countries for eligible transactions on
a multilateral basis.

Which of the above statements are correct?
(a) 1and 3 only (b) 2 and 3 only
(¢) 1and2only (d) 1,2and 3

With reference to the Monetary Policy Committee,
consider the following statements:

1. Under the amended (2016) RBI Act 1934,
the central government is empowered to
constitute a 5-member monetary policy
committee.

2. It will determine the policy rate required to
achieve the inflation target, which will be
binding on all banks.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
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fefsea T & gy o fr=fafed woml w fa=ar

HIfST:

1. 38 %% WWHR g | 7GR, 2022 &l dt-d
o T R

2. 38 e1oft ok oH-3 & T S feRa T B

3. anft o W wfagfae o fgdas e
- foem ® s fean st

ST oAl § 9 HA-T/E T 22

(a) wad 1 (b) 1 3R 2

(c) wad 3 (d) 2 3R 3

frafafes T ) fa=ar wifs:

1. TS 2. 3y YR

3. AT 4. nfewm

ST ¥ ¥ fhad T €Y 9 9NN SRS T

% w9 H 9 W 2?2

(a) Fad TH T (b) FaA I TA

(c) Had o T (d) |+t =’ T

ok d<a STRA |iewe! (NBS) =aeel & dgH

¥ frAfafed Fua | faer Fif:

1. WEHRE (P) TS URET (K) Sathi W Afeaet
1 YU TR g1 alftes &9 § i Wt 2|

2. fgdiae 3R ged O qwel o HiferseTd
(Mo) IR fSie ol Seiteh! &l 39 o &
ed wedel el < St @

3. I8 A Ik o TAH WA Hl W
T & Tl P& K ST &1 @Ud i agH
Wm@ﬁ%,aﬁ@:ﬁ:%'l4:1:
2 2

STE wedl § 9 A qA wE 2R?

(a) ee 1 (b) 1 32

(c) Wod 3 (d) 2 3R 3

MR Y& B2 YOt (TReDS) & ded H

frafafed wel W foer #ifs3:

1. T ¢ Homeast & wegn ¥ gay, oy #ik
T 3T & AR Wiadl & foramose
&1 glawr & ol Tk Tt 1 R

2. TH §&H, @Y UA WA STH HACHE §N
fafrafia fean sman 21

3. 9% ¥&H, 99 TS " SEl % Al
AT HH, WHR A, MR HH &
oem &1 T w9 2

SufE weAl W W wE /A TE 2?2

(a) wad 1 (b) 1 3R 3

(c) 1 3R 2 (d) 2 3R 3

12.

13.

14.

15.

With reference to Digital Rupee, consider the

following statements:

1. It has been launched by the Central
Government on November 1, 2022.

2. TIthas just been released for bulk transactions.

3. Currently it will be used to settle secondary
market transactions in government securities.

Which of the statement(s) given above is/are

correct?

(a) 1only

(c) 3only

(b) 1and?2
(d) 2and 3

Consider the following states:
2. Andhra Pradesh
4. Odisha

Which of the above are mainly known as millet
producing states?

1. Rajasthan
3. Telangana

(a) Only one state
(c) Only three states

(b) Only two states
(d) All four states

With reference to Nutrient Based Subsidy (NBS)
regime, consider the following statements:

1. The subsidy on Phosphorus (P) and Potash
(K) fertilizers is announced annually by the
government.

2. Fertilizers containing secondary and micro
nutrients such as Molybdenum (Mo) and Zinc
are not subsidized under this regime.

3. Itintends to increase the consumption of P &
K fertilizers to achieve the optimum balance
of NPK fertilizers, where N: P: Kis4:1:2.

Which of the statement(s) given above is/are
correct?

(a) 1only
(¢) 3only

(b) 1and2
(d) 2and 3

With reference to Trade Receivables Discounting
System (TReDS), consider the following
statements:

1. It is an electronic platform to facilitate
financing/discounting of trade receivables
of Micro, Small and Medium Enterprises
through multiple treasuries.

2. Itisregulated by the Ministry of Micro, Small
and Medium Enterprises.

3. It is a platform for uploading, accepting,
trading and settlement of invoices for Micro,
Small and Medium Enterprises.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 1and3

(¢) land2 (d) 2and3

| eteE | e e
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frefafea wol | faar wifa:

1. fen a9 steuafy # e ygfa &t erdfaa
feon ® wge W wifgal = e =i
T e 2l

2. e sseq® fee & wem ofafy | few
yafa i srafea feen wfee on wifadt &
gftehion 1 I w2l

ST Fo H§ 9 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (d) T 1 A2

iR fogee aied & wed # freAfated wemt

T foar Sifsa:

1. 39! TO 1971 H Ui # gg of

2. 39 1999 H g WREM W WA ®HET &
fora et wifa R 9 werta feram T
ol

SwE wUAl W 9 SE-FUA T 27

(a) ®aa 1 (b) ®ad 2

(¢) 1 22 =H (d Fa 1 dARTE2

G-20 RBrer g & "oy ¥ frefafed wem

T foar Sifsa:

1. o5 @ISl 8 & 9% a9 1991 ¥ wefad fm=n
T |

2. U1 IEYA ufed 9 H Aged W Th A
fargel =eEen 1 =g < 2

3. Sf-20 I KT M@ Afvash AT
T-faer 21

ST Fo H § HHA-TUA TE B2

(a) Hod 3 (b) 1 3R 3

(c) @ad 2 (d) 2 @R 3

freafafed & 9 fvg g & 9@t =ri <91 G-20

* TS B2

(a) TSI, G, JAEeE fhien, wied

(b) HIH T TR, eetl, fietele, fEele

(c) SR, FTSel, WY HIFAT, ST

(d) <R, Sfean, Afeh!, gl ora

3@ & H Ry 391 T HUg 7 9RA & Wiy ST

TEA iR AR qUeid S He[l Y i €2

(a) ST9H (b) SSHRTE

(c) sifefern (d) =ffete

16.

17.

18.

19.

20.

Consider the following statements:

1. Rating Watch indicates the outlook of credit
rating agencies on the expected direction of
rating trend in the near term.

2. Rating Outlook indicates the outlook of credit
rating agencies on the expected direction of
rating trend in the near to medium term.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and?2

(b) 2 only
(d) Neither 1 nor 2
With reference to Doctors Without Borders,
consider the following statements:

1. It was established in 1971 in Paris.

2. Itwasawarded the Nobel Peace Prize in 1999

for humanitarian work on several continents.
Which of the statement(s) given above is/are
correct?
(a) 1only
(c) Both1and2

(b) 2 only
(d) Neither 1 nor 2
Consider the following statements regarding G-20
summit:
1. It was established in the year 1991 after the
Gulf War.
2. Its objective is to promote a new world order
under the leadership of western countries.
3. The population of G-20 countries is two-thirds
of the global population.

Which of the statement(s) given above is/are

correct?
(a) 3 only (b) land3
(¢) 2only (d) 2and 3

All the four countries of which of the following
group are the members of G-20?

(a) Canada, France, United Kingdom, Sweden
(b) USA, Italy, Netherlands, Finland

(¢) Denmark, Brazil, South Korea, Japan

(d)

Recently which country's parliament has approved

Germany, India, Mexico, Saudi Arabia

economic cooperation and trade agreement with
India?

(a) Japan
(c) Australia

(b) Indonesia
(d) New Zealand
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Qe Fgam 9Rug (GCC) & ded # fAfafad

FeAl W fo=R Fifee:

1. 78 qeg-qdl 9 1 TeHifas SR enfdw
TEEEA 2

2. THH TE | Hod, WE, W, R, o\
AR A e 2

3. WIE gedn uRug % G SR I ‘4R
I W 3T A’ & ff wee B

TR wo W Y A T

(a) Had 1 3R 2 (b) e 1 3R 3

(c) ad 2 3R 3 (1,2 3R 3

TEAT TEanT G & gsd o frfafed wmemf

T foar Sifsa:

l. I8 §gF T & 9% TO0 Ha9 9]
HN-THN FT B

2. 3% G < AR TRl 9 R

3. YRd 3HH S B

S el ¥ W HA-9 T 2?2

(a) e 1 3R 2 (b) @eet 1 3R 3

(c) wad 2 3R 3 (d 1,2 3R 3

I T A qRuE w1 Adeners U wfhfd

% ged o fmfafed wol W foer #ifsa:

1. & & ° THeh! foiw 95% 1 SRS T2
feeett iR seueER ® fFan T 2

2. A9 H 9RA AGeRars U |iufa & stee
% ®9 4 w1 H 2

ST wedl § 9 HA-T/A T 2R

(a) Fad 1

(b) e 2

(¢) 1 3R 2 =H

(d Fd 1 SRAE2

=i @ 19 ved & g frefafad wed w

fo=m wifsE:

1. 8 GIH TZ 3R ol 1 Hegeer@l areft
wEd 2l

2. T @ W ®H 3OH TH: wiHA g3 B

3. T TEd w1 IRV AfYad IR SN I
T s gHfved s @™ el |
TETERIfa 1 HfHd HE ol

STgF weAl ¥ U wH-9 TE ©?
(a) sae 1 3R 2 (b) @aet 1 3R 3
(c) wad 2 3R 3 (d 1,2 3R 3

21.

22.

23.

24.

With reference to Gulf Cooperation Council
(GCCQ), consider the following statements:
1. It is a political and economic alliance of
Middle-Eastern countries.
2. Its members include Kuwait, Iran, Iraq, Qatar,
Bahrain and Oman.
3. Member of the Gulf Cooperation Council and
Yemen is also a member of the 'Greater Arab

Free Trade Area'.

Which of the above statements are correct?
(a) 1and?2only (b) 1and 3 only
(c) 2and3 only (d) 1,2and3

With reference to the Organization of Islamic
Cooperation, consider the following statements:
1. Tt is the second largest intergovernmental
organization after the United Nations.
2. Its member countries are from four continents.

3. India is its member.

Which of the above statements are correct?
(a) 1and?2 only (b) 1 and 3 only
(¢) 2and 3 only (d) 1,2and 3

With reference to the Anti-Terrorism Committee
of the United Nations Security Council, consider
the following statements:
1. Recently its special meeting has been
organized in New Delhi and Ahmedabad.
2. India currently serves as the chair of the Anti-

Terrorism Committee.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the Black Sea Grain Initiative,
consider the following statements:
1. It is an initiative mediated by the United
Nations and Turkey.
Recently Russia has rejoined it.
The objective of this initiative was to limit
food price inflation by ensuring an adequate

supply of food grains to the global market.

Which of the above statements are correct?
(a) 1and?2only (b) 1and 3 only
(c) 2and3 only (d) 1,2and3
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feg-yond =it darg & w3y ¥ fr=Afafed ot

R foer #ifs:

. ¥€ IR T H1 et v Wi &
TorHifas @t 2

2. THHT A favmar ™ o faan wem

ST el W W wA-G/H W 22
(a) ®aa 1 (b) ®ad 2
(¢) 1 @R 2 =H (d Fa 1 RTE2

e B H Tl | @l "y 1o frefafed § 9
form g o e 272

(a) TSEAM (b) w&Trtg

(c) ITEE (d) eI

Toh-gfea I WevHa @hig & ded § frfafed

FeAl W =R Fifee:

1. 39 IS & @A I 8 a9 18-30 I9 &
g & & 5000 fefumes wRd™ & 7% |
T I q HH HH H TR GSH FHT

2. FE Al 99 2023 T YESE | B SR
T ded fafest ®&l & ft 9Ra o &
FH HT TR YIE HTN

ST el W W wA-A/H T 2/R?
(a) & 1 (b) T 2
(¢) 1 22 =F (d Fd 1 dARTE2

SHfess gSifafin geaisa afafd (GEAC) & Ggd

¥ fAfafad so | faer Fif:

1. SH&1 Aied He™, $0 AR fFEE weam
A

2. IMERI® ®Y ¥ WG (GM) W& & &e
STEA H GEAC §R1 STHifsa fovan 2

3. 39 vEieR0T TRetU SifufTEd, 1986 & ded
arfergfera feran = 2

STdE weAl W W wE-9 T 7?2

(a) e 1 3R 2 (b) e 1 3R 3

(c) wad 2 3R 3 d 1,2 3R 3

Stte @@ (DMH-11) & day o fAfafea

FeAl W fo=m Fifee:

1. I fecet favafaeme™ & g ¥ R SHicH
Ay 1T %19 wed (CGMCP) | TH
et ®9 ¥ fowfaa sfdame 2feke (HT)
ol 2l

2. I=d 399 adt DMH-11 &1 STREA HH &
for fagt =& ey @ e1em fwa T 1 foget
S-S SR SRR T g e T
ol
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26.

27.

28.

29.

With reference to the Indo-Pacific regional
dialogue, consider the following statements:
1. Tt is the annual apex level regional strategic
dialogue of the Indian Navy.
2. It was organized in Visakhapatnam.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither I nor 2

In which of the following states is the Machchu
river, which was in the news recently?

(a) Rajasthan (b) Mabharashtra

(¢) Uttarakhand (d) Gujarat

With reference to UK-India Young Professional
Scheme, consider the following statements:

1. Underthis scheme UK will provide opportunity
to 5000 degree holder Indians in the age group
of 18-30 years to work in UK for two years
every year.

2. This scheme will start in the year 2023 and
under this, British students will also get an
opportunity to work in India.

Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

With reference to Genetic Engineering Appraisal

Committee (GEAC), consider the following

statements:

1. Itsnodal ministry is the Ministry of Agriculture
and Farmers Welfare.

2. Genetically Modified (GM) mustard seed
production has been approved by GEAC.

3. It has been notified under the Environment
Protection Act, 1986.

Which of the above statements are correct?
(a) 1and?2only (b) 1and 3 only
(¢) 2and 3 only (d) 1,2and 3

Consider the following statements regarding GM
Mustard (DMH-11):

1. Ttisindigenously developed herbicide tolerant
(HT) mustard at The Center for Genetic
Manipulation of Crop Plants (CGMCP),
University of Delhi.

2. To produce high yielding DMH-11, two
foreign genes isolated from soil bacteria-
'Barnase' and 'Barstar' were used.
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3. € AR ®Y W HIHG WE wE €,
58 9ra A anfortren Reftst =1 et < 2

STdE HUAl W W wE-9 T B?

(a) Fae | 3 2 (b) wae 1 3R 3

(c) Hae 2 3N 3 d 1,2 33

frafafed wol W foer #ifs3:

1. St ufefen qeer & memm ° SHm o
foviy ol W STEfe W # e,
TR AR SRl S kel B

2. CRISPR-Cas9 Freifient s gehfrafa
% HEAH W Ueh QS ! YR A1 HiSEl
S T <HA T 2

3. CRISPR-Cas9 WrENfiehl ‘SHfes b=’ off
TN W B

STE FUAl § 9 ®A-9 T 22

(a) el 1 3R 2 OEESREE K

(c) Weel 2 3N 3 @ 1,2 3R 3

fin-S e B wee § FrefenEd s W

o IS

1. I% WNG 1 U8el sl dR W foefad Jehe 2

2. 9R Udis i alel § of 9 o HWaH 2l

3. fa®a-S & YRY (Prarambh) fH¥M & d&a
Fafter § S T 2

ST el § W HA-9 T 2?2

(a) e 1 3R 2 (b) o 1 ¥R 3

(c) wad 2 3R 3 (d 1,2 3R 3

TR gfaty & "ed § frAfafed wed =

FHIfSA -

1. Torell qemrsia g1 Gt AgehifsRrer <sh
e wfaty eifde w2 e 9 2l

2. UMURIER o 1 gETE SR ¥ e
IWIT % HROT THH FHR €l

3. UM gfiy faesfad & o gemstar
1 ‘gREE’ & T H A S B

STE Fodl ¥ 9 HA-T/A TE B 2

(a) e 1 (b) Fae 2 3R 3

(c) Weel 1 3R 2 (@ 1,231 3

= o1 faii ofafker ©ym & ged o f=fafea

FAl W fo=m Fifee:

1. 39 geat & 350 W 450 foHl. & <=9 @ o7ef
Atz o wenfyq fran w0 21

2. TE I H gEA efhifas afe BeE 2

ST For H § HHA-T/A TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g (d) a1 T2

30.

31.

32.

33.

3. It is the first genetically modified food crop
that India has allowed commercial release.

Which of the above statements are correct?
(a) 1and2only (b) 1and 3 only
(¢) 2and 3 only (d) 1,2and 3

Consider the following statements:

1. Genetic material can be added, removed and
changed at specific locations in the genome
through genome editing techniques.

2. CRISPR-Cas9 technology involves the
introduction of a new gene or the suppression of
an existing gene through genetic engineering.

3. CRISPR-Cas9 technology is also called
'genetic scissors'.

Which of the above statements are correct?
(a) 1and2only (b) 1and 3 only
(c) 2and 3 only (d) 1,2and 3

With reference to Vikram-S rocket, consider the
following statements:
1. TItis India's first privately developed rocket.
2. Capable of carrying four payloads into space.
3. Vikram-S has been sent to space under
Prarambh mission.

Which of the above statements are correct?
(a) 1and2only (b) 1and 3 only
(¢) 2and 3 only (d) 1,2and 3

With reference to antimicrobial resistance, consider

the following statements -

1. Acquiring resistance by a microorganism
against antimicrobial drugs.

2. It is spread due to misuse of antimicrobial
drug and improper use in agriculture.

3. Microorganisms that have developed
antimicrobial resistance are known as
'superbugs'.

Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 and 3 only

(¢) 1and2only (d) 1,2and 3

With reference to China's Tiangong Space Station,
consider the following statements:
1. It Has been installed in Low Earth Orbit
between is 350 to 450 km from the earth.
2. Thisis China's second long-term space station.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
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ey fesiar & g o fr=fafaa werl =

foar =wifs:

1. 7% AEURE ¥ g9 % SRl e 2

2. TEH HIE fafreq sw=R @ €, S wsft %
o 3w =l

IwfE w9 9 SE-FUA w1 27

(a) Had 1

(b) HadA 2

(¢) 1 @ 2 =H

(d A1 AT 2

BT B TRIEhT 221 Y HY YA HEl HI T
2

(a) TETS (b) e

(c) & feeett (d) STEHIER

FHEee SHaéshed & Fed ¥ frefafed semf

R fa=r wifsa:

1. 30 el fHfered & 1% iR Ties @ee
% HYuu § Wiw feRen T 2

2. B @ A W WiE 9 W Ude urw
g3 2

SfE w9 9 SE-F/A w1 282

(a) Had 1 (b) HaA 2

(c) 1 &R 2 i () Ta 1 RTE2

oiféat & 274 ¥We@H (COP27) & wHad o

ffafed wo W foeR Fifsa:

1. T ¥ & FwEEA & R T o, 5
ufd o w9 9 w9 ST gl @

a9 2030 T IR T

2. foshmaefiar <ol & Sioarg SrenfieRT g
1 I 31 & T2 T 791 GaaHid wrdhd
& e R

3. FE 2030 T Had A Serary gagRia
TEEl B w9 4 SRa ot & ferl
AT S@H ?q 30 STJhe URomH i
FTRET IR H 2

ST el § W HA-9 T 2?2

(a) e 1 3R 2 (b) e 1 3R 3

(c) Weel 2 3N 3 (@ 1,2 3R 3

frafafaa wot w® foar wifs:

1. STfery ¥ Hefod S9g1el & R0l gU TheH
% fod FASR <M 1 Goaesn 74 & fod
H9-27 & wlaffal g0 g Ue SUW we
w1 gl § T 2
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With reference to myositis disease, consider the
following statements:
1. Ttis caused by inflammation in the muscles.
2. There is no medical treatment for this, which

is suitable for all.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Where has the Hyperscale Data Center been
launched recently?
(a) Lucknow

(¢) New Delhi

(b) Noida
(d) Ahmedabad
With reference to Cardigold Nanoparticles,
consider the following statements:
1. Itisobtained from the synthesis of Cardyceps
militarus extract and gold salt.
2. It has recently received the International
Patent from France.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and?2

(b) 2 only

(d) Neither 1 nor 2
With reference to the 27th Conference of the Parties
(COP-27), consider the following statements:

1. A mitigation action program was launched,
which will continue until the year 2030 with
at least two global dialogues per year.

2. A new five-year program has been launched
to promote climate technology solutions in
developing countries.

3. TItoutlines 30 adaptation outcomes to enhance
resilience for the 4 billion people living in the

most climate-sensitive communities by 2030.

Which of the above statements are correct?
(a) 1and?2 only (b) 1 and 3 only
(c) 2and3 only (d) 1,2and 3

Consider the following statements:
1. The Loss and Damage Fund has been
approved by COP-27 delegates to compensate
vulnerable countries for damages caused by

climate-related disasters.
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2. Soarg 9iEdd a1 Hefud SAeie % 99,
9= oo™ & weam | off %7 1 2ren T&
ST Hehdr 7, ‘e 3R afq (g T 2ue)’
I F R A T

3. HIY-27 1 ESH 7Y ¥ 37 v | foman
T

ST el W W wA-G/H T 2/R?
(a) ®ed 1 (b) B 1 3R 3
(c) Weel 2 3N 3 @ 1,2 3R 3

Freq a3 & g o frefafea weri ™

fomm wifsa:

1. 38 =fiole oIk Z0d o9 g #1927 o
wedrter fean T R

2. ofFsw g 3N He o)W fFan S W@ 2

ST HeA W W HHA-GA TE B2
(a) Had 1 (b) Had 2
(c) 1 3R 2 =i (d) Td 1 A2

TSI e ScaeiA & Hed o frfafaa weH

R fa=m wifsa:

1. o€ Tk U feafa =1 weiiq s €, o
sy TGl %1 Seasq

2. 9RA A 99 2047 d E@ A SHSH F
e @l 2

ST oAl § 9 HA-T/A T 22

(a) ®aa 1

(b) Had 2

(¢) 1 @R 2 =H

(d Fd 1 A2

IRd ¥ 9 e gashie ¥ fefated § 9
FH-9 Wi &2

1. 9wH 10 2. Sl AABTFES
3. TCH TEAES 4. HET SESARES
S el ¥ W HA-9 T 2?2

(a) ®ad 1,23 4 (b) ®aat 1, 2 3R 3
(c) e 3 3R 4 (d) 1,2,3 R 4
aRa & frefafed § 9 fF9 e o wivmn &
Hod el 9@ T wEA gE fma w82

(a) STSHR, TS

(b) T3, SW WY

(c) W, USE
(d) foaemamem, a1y g
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2. The effects of climate change or related
disasters, which cannot be reduced or avoided
even through adaptation, are covered under
the term 'loss and damage'.

3. COP-27 was organized in Egypt Sharm El
Sheikh.

Which of the statement(s) given above is/are
correct?

(b) 1and 3 only

(d) 1,2and 3

(a) 1only
(¢) 2and 3 only
With reference to Carbon Border Tax, consider the
following statements:
1. Ithasbeen proposed by New Zealand and the
European Union at COP-27.
2. It is being opposed by the Basic group.

Which of the statement(s) given above is/are
correct?

(b) 2 only

(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and?2
With reference to net-zero carbon emissions,
consider the following statements:
1. Tt refers to a situation in which the emission
of greenhouse gases is zero.
2. India has set a target of net zero emissions by
the year 2047.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Which of the following are included in the Air
Quality Index in India?
1. PM 10

3. Sulfur dioxide

2. Carbon Monoxide
4. Carbon dioxide

Which of the above statements are correct?
(a) 1,2 and4 only (b) 1,2 and 3 only
(¢) 3 and4 only (d) 1,2,3and 4

In which of the following cities of India, Asia's
largest bio gas plant has been commissioned?

(a) Barmer, Rajasthan

(b) Meerut, Uttar Pradesh

(c) Sangrur, Punjab

(d) Visakhapatnam, Andhra Pradesh
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43. 3T HTeshd & Had H fAfafed swel W faar | 43. With reference to Amur Falcon, consider the
CAISDR following statements:
1. T2 31 1 Gad dal gaE S arel e 1. It is the longest migrating bird of prey in the
qaft 2 world.
2. T A SR T % A9 W e 3 5 =g 2. Itisnamed after theAmu'r River w}?ich forms
e i e the border between Russia and China.
e i R s S 3. Tt 1; li]s:ej Ln tthef:la:telgclry oi 'LealstU C?nce;m
in the Red List of the International Union for
foreh S 2 . X ;
( . = ) doft ;g i 3 o Conservation of Nature (IUCN).
1:. el 4. 1t is protected under the Indian Wildlife
4. I8 “:I-{;‘i B 3;43 9w sfufem 1972 & Protection Act 1972.
| .
aed &Td ‘ Which of the above statements are correct?
ST Forl H W FH-E W T (a) 2,3and4 only  (b) 1,2and3 only
(a) %ot 2,3 3R 4 (b) e 1,2 &R 3 (¢) land4 only (d) 1,2,3and 4
(c) & 1 iR 4 d 1,2,3 i 4 44. With reference to Methane Alert and Response
44, TR T U e fowen & dey o frfafea System, consider the following statements:
oAl W fo=m Fifsa: 1. It has been launched the 27th Conference of
1. 39 SREIR| qfgda ERCTIRUA R the Parties to the United Nations Framework
FEYH & YR b 279 o oli=g T Convention on Climate Change.
™R 2. The initiative aims to strengthen efforts to cut
2. TH Ug 1 LW WOA Scdsid  werdl B methane emissions.
G+ g w0 3 Which of the statement(s) given above is/are
S ) correct?
ST For 4 HHA-TUA TE B2 @ 1only
(a) o 1 (b) 2 only
(b) et 2 (c) Both 1 and?2
(¢) 1 3R 2 3t (d) Neither I nor 2
(d) T 1 R 7 2 45. Which of the following state has recently declared
45. T g ° frfafed § 9@ fea 9 1 31991 dgen its first Biodiversity Heritage Site?
- fafaerar foa Toe wifoa fowan €2 () Tamil Nadu (b) Kerala
(a) afFerrg (b) ®TA (c) West Bengal (d) Mizoram
(c) =M sma (d) fosm 46. With reference to the Action on Water Adaptation
46, ST STIHRTE A AT W FHAE (AWARe) or Res‘ilience (AWARe) initiative, consider the
el &% Hed o frefafaa weml W R st following statements:
| fove trgm £ . = TEed o g 1. The COP-27 Presidency of Egypt in
' . . partnership with the World Meteorological
% H-27 YHESH 7 3H USA HI YEAM o
2 2 Organization has launched this initiative.
S, 2. This initiative will first be implemented in
2. & W& el @ RARN South-East Asia.
Gl . 3. This Agenda2030 aims to promote cooperation
3. T8 ToieT 2030 B Ie¥ forI F H THSA-6 and interconnections between water and
F WG FH & T S SR Ty FwHa climate action, in particular to achieve SDG-6.
& i T ST Sieeiae B g @l Which of the statement(s) given above is/are
STE weHl ¥ ¥ RE-T/A T /2 correct?
(a) o | (b) 1 3R 3 (a) 1only (b) land3
(c) o 2 (d) 2 33 (c) 2only (d) 2and 3
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47. = W wEEE % T H frEfafed wed ®

faar wifs:

1. I8 HTHH HRSIA BR TTIRRAHSE TSI
(FEE) g1 =/l T @1 2

2. 7% Uw T $el-owa 2, W fava W &
T Tl 1 ORI M & oS % &Y
o fean s 2

3. 8 @ W 9Rd & oegd # fem At
4t T2 IR FHIAT q FHI =7 Tl UM foHan
T 7

4, oHUH IR § s Tl JHUE &% ded FHI
Tz a2 w1 HE 12 @

ST oAl § 9 HA-T/E T 22

(a) Haet 2,3 3R 4

(b) wee 1,2 3R 3

(c) wadd 1 3N 4

(d 1,2,3 3R 4

. TAl-3AEe eTueisT & siqvia ffafea o @

HH-9 I 872

1. oz 9 ¥ gfg

2. d9HH gfg

3. T

4. TEEISATRII

5. SarTgEl ITM

= fed MU He w T W W g

(@) 1,2,435 (b) see 3 R 5

(c) ®aa 1,2 R4  (d) 1,2,3,4 3R 5

49. fAfafad s ® fa=r wifsa:

1. fova drem fomm dwea 3 Serarg aiedT ®
TR T P A e Wi @
2749 gHeq ¥ Ot & fo urfves <ot
HI HEER HTE IS S H

2. fova drem faam @ed g od 2023-2027
% fod FEe wiaE gduifas  smu
Sifem 99 &l 3 sgH & fod wq@ &t
1 TEEH Hl

3. Y& <drerl Jomel! g, G o7fs |fed o
I WAl ¥ TEd ARl Sl B At RE
R Hufa 1 efd 1 wH HET

STE FUAl § 9 ®H-9 T 2?2
(a) el 1 3R 2 OEESREE K
(c) o 2 3N 3 (d) 1,23 3

47.

48.

49.

With reference to the Blue Flag programme,
consider the following statements:

1. This program is being run by the Foundation
for Environmental Education (FEE).

2. It is a unique eco-label, awarded to coastal
destinations around the world as a badge of
environmental honour.

3. Recently the Blue Flag has been awarded to
Minicoy Thundi Beach and Kadmat Beach in
Lakshadweep, India.

4. Presently the number of beaches certified
under Blue Flag certification in India is 12.

Which of the statement(s) given above is/are
correct?
(a) 2,3 and4 only
(b) 1,2 and3 only
(c) 1and4 only
(d 1,2,3and 4
Which of the following are included under slow-
onset disasters?
1. Risein sea level
2. Rise in Temperature
3. Earthquake
4. Desertification
5

Volcanic Eruption

Select the correct answer using the code given
below :

(a) 1,2,4and5
(¢) 1,2and4 only

(b) 3 and 5 only
(d) 1,2,3,4and5
Consider the following statements:

1. The World Meteorological Organization
released the Early Warning Action Plan for
all at the 27th Conference of the Parties to
the United Nations Framework Convention
on Climate Change.

2. The World Meteorological Organization's
Executive Action Plan for 2023-2027
identifies key areas for advancing universal
disaster risk knowledge.

3. The early warning system minimizes loss
of life and property damage before hazards
including storms, tsunamis, etc. occur.

Which of the above statements are correct?
(a) 1and?2 only (b) 1 and 3 only
(c) 2and3 only (d) 1,2and3
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e TS SSeleh e shiA-Sl Fee SRy st
27
(a) AR Sofi Toidt

(b) Towa &=

(c) ST TSAHIONT ol TSt
(d) fowa e aftog
frfafes T ) fa=ar wifse:

1. /M 2. MY YW
3. 4 9me 4. FTA

SF ¥ 9 fRdd 9@ €9 ¥ 99 IORE A
% w9 H 9 W 2?2

(a) HIA Th T (b) FaA A T
(c) Had d9 T (d) aft =i T
frAfafea wol | faar wifa:

1. ST A9EH 20-30

2. 99 R guE w9 ¥ foaf@ 150-300 o
afiies oot

3. fasgaa oweia &1

4. TH TH E €y

ST ¥ ¥ FE-T/A 99 F HEA TG SEIR

=g 82

(a) Fac 1,3 34 (b) aad 1, 2 3R 3

(c) ad 2 3N 4 d1,2,3 3R 4

ORAT 99 9 & G § frefafed wua w

foaR ifer:

l. ¥€ T Gaurae e 2l

2. TR A & YAH 2 WA A% YIS R
S 21

3. U8 TH I e ® ®UOH A™ 3T &
oy foshTd 1 TEH Il B

Ie FUA ¥ 9 wE-9 wE T 82

(a) ol 1 3R 2 (b) aet 1 3R 3

(c) wae 2 3R 3 d 1,2 3R 3

we ©a & Y A § HE-9 w (TR

wH) T 72

(a) =M, STH, TR, IR

(b) =¥, 9N, STHRHT, STUH

(c) =, 3R, R4, STu™

(d) =, 9, S9H, THfen

FHTE HE FEd b Ged H FrAfafad we )

foar e

|. WK P SgHuE G A sHhT a1 d
ol (q@n T e THE 1638 AR T
T HA THE 1652) i Taerfaa fman 21

50.

51.

52.

53.

54.

55.

Which organization issues the World Energy
Outlook Report?

(a) International Energy Agency

(b) World Bank

(c) International Renewable Energy Agency

(d)
Consider the following states:

2. Andhra Pradesh
4. Kerala

World Energy Council

1. Assam
3. West Bengal

Which of the given above are mainly known as
Tea producing states?

(b) Only two states

(d) All four states

(a) Only one state
(c) Only three states

Consider the following statements:
1. Ideal temperature 20-30
2. 150-300 cm evenly distributed throughout the
year annual rainfall
3. Porous Acidic Soil
4. Hot and humid climate

Which of the given above is/are the essential
conditions for growing tea?

(a) 1,3 and4 only (b) 1,2 and 3 only

(c) 2and4 only (d) 1,2,3and 4

About Tea Board of India Consider the following
statements:
1. Itis a constitutional body.
2. Its board is reconstituted after every 2 years.
3. It looks after the overall development of the
tea industry as an apex body.
Which of the given above statements are not
correct?
(a) 1and2only
(¢) 2and 3 only

(b) 1 and 3 only

(d) 1,2and 3

Which of the following order (in descending order)
is correct in the peak production of crude steel?
(a) China, Japan, America, India

(b)
(¢) China, America, India, Japan
(d)
About kala Namak Chawal, Consider the following

statements:

China, India, America, Japan

China, India, Japan, America

1. Indian Agricultural Research Institute has
developed two dwarf varieties (Pusa Narendra
Kala Namak 1638 and Pusa Narendra Kala
Namak 1652).
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56.

57.

58.

59.

2. 79 Sftemé 3w 2l

3. 38 ‘g5 wed’ & &9 H S S R

4. T TEA AR 5k S9 geH wok qoi o
TR T

STdE wUAl § W wE-9 T 7?2

(a) ®ad 2,3 AR 4 (b) wael 1, 2 3R 3
(c) ad 1 3N 4 d1,2,3 3R 4
gHuER T fefafaa § @ fRewl dwew
ad ?2

(a) TRTRI (b) TETERY

(c) et (d) ST

IRdrE A fage g & ged § fAfafea

HoAl W fomm wifsE:

. I8 SO-GiEhfds e W wHEnsid
IEYE % o ygE HeH 2

2. I€ UIERY, 99 TS Sy 9Redd HAed
% qed Yt T B

3. 98 g H HE off oI e w1 THAM
TEIH B, S W ool H HHeee
TG 1 3 T 2

STdE HUA W 9 ®E-9 T 2?2

(a) Weel 1 3R 2 (b) wae 1 3R 3

(c) Wedl 2 3N 3 (@ 1,2 3R 3

TR SAfEE (POCSO Act) & H3el # frfafad

FeAl W fo=m Fifee:

1. I STl 9wl o1 weer SAttTEE, 2012
(POCSO) M o0y i Wfgal %l Te=
F YHAFT T A ol 2

2. POCSO sifyfem & |+ft a=ai & o qwa
AR erferd yrfaes foren & eifuser &1 oft
Ieorg T T R

STgF weAl ¥ W wH-G/A T R?

(a) ®ad 1

(b) Fad 2

(c) 1 3R 2 <

(d) Td 1 A2

SEA-YATGTl 3R AT sfufaverd ¥ Hefud

e frefefed § 9 forgen Seded wid 2

1. 9RdE Gfaum & o] 14, 15 3R 21

2. HHEETHRR i EEsifie S 1948

3. AMRER 3R UsHifae el W ey
A= 1966

4. dfgensti & faare 9'¥@ & [+ O &

ST W HEH 1979

5 The Vision
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57.

58.

59.

2. Ithas got GI tag.

3. TItis known as 'Buddha Rice'.

4. Ttis rich in micronutrients like iron and zinc.
Which of the given above statements are correct?
(a) 2,3 and4 only (b) 1,2 and 3 only
(c) 1and4 only (d) 1,2,3and 4

The Sukapaika River is a tributary of which of the

following?
(a) Mahanadi (b) Godavari
(c) Tapti (d) Brahmaputra

About Indian Institute of Anthropology, Consider
the following statements:

1. It is the premier institute for anthropological
research in bio-cultural studies.

2. It is an institute administered under the
Ministry of Environment, Forest and Climate
Change.

3. [Itis the only institute of its kind anywhere in
the world, which advances anthropological

research in the government system.

Which of the given above statements are correct?
(a) 1and?2only (b) 1and 3 only
(¢) 2and 3 only (d) 1,2and 3

With reference to the POCSO Act, consider the
following statements:

1. The Protection of Children from Sexual
Offenses Act, 2012 (POCSO) prohibits the
disclosure of the identity of a victim of a
sexual offence.

2. The POCSO Act also mentions the right to
free and compulsory elementary education
for all children.

Which of the given given above statement(s) is/
are correct?
(a) 1only
(c) Both 1 and?2

(b) 2 only
(d) Neither 1 nor 2
Crimes related to witch-hunting and widespread
superstition violate which of the following?
1. Articles 14, 15 and 21 of the Indian
Constitution
Universal Declaration of Human Rights 1948
3. International Covenant on Civil and Political
Rights 1966
4. Convention on the Elimination of All Forms

of Discrimination Against Women 1979
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60.

61.

62.

63.

= fed T w2 A TEE L FR SW G

(a) @aa 1,2 3R 4

(b) ®ad 1,2 3R 3

(c) wad 3 3N 4

(d 1,2,3 34

frafafed wol W foer #ifsa:

1. af¥as R W s § Afearsi w1 aied
et 26.2 whaed €l

2. TR, AT IR SU-TEW AT H Hfgensi
1 gfdffee afves sied 9 S 2

3. U, wed &5 S Hed qd Ud ST SAEIh]
&9 e @ 9 R

STdE weAl § W wE-9 T 2?2

(a) el 1 3R 2 (b) e 1 3R 3

(c) ael 2 3N 3 (@ 1,2 3R 3

i 2.0 e & Hed § frefafea el

R faEr Sifsa:

1. T U6 RN kel Haerd g fovd
e fea® 2022 & et W 39 AR
1 JEAT HI T

2. TUH 3T I & UHIY U I AR H
IR 3R I Sieer 1 HrEehed
FHET B

3. 39 A | drE favea 89 2

SfE w9 9 SE-FUA w1 282

(a) @ad 2 (b) 2 3R 3

(c) ®ad 3 (d 1,2 3R 3

fefsea wifeq aifiam 4.0 & e o F=afafea

Fodl W foeR Fifea:

1. F=A1 T YR Herd 50 56 AW
IR feRan =

2. 30 19 HESYE R W % Wedmm § Y&
o T 2

3. IE MM e &5 § wigensti ik aefwa
#t fefTea &9 9 99 9 @ TH &
?q T IIfEel ARdE qrEsT 2l

SudE weAl W W wE-U T 7?2

(a) el 1 3R 2 OEESREE K

(c) wad 2 3R 3 d 1,2 3R 3

e & Ged o fAfafed suAl w fomw

EAISPE

l. I8 9Rd & a9 &S SUA-TR BW § 4
T 2

2. I gfaed el A€ & qe WAt fha
S 21

5 The Vision
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61.

62.

63.

Select the correct answer using the code given
below:

(a) 1,2 and4 only

(b) 1,2and3 only

(¢) 3 and4 only

(d) 1,2,3and4

Consider the following statements:

1. Globally, the average participation of women
in politics is 26.2 percent.

2. The representation of women in the Americas,
Europe and sub-Saharan Africa is given above
the global average.

3. The Asia Pacific region and the Middle East
and North Africa region are below average.

Which of the given above statements are correct?
(a) 1and2only (b) 1and 3 only
(c) 2and3 only (d) 1,2and 3

Consider the following statements in the context
of Toilet 2.0 campaign:

1. The campaign was launched by the Ministry
of Health and Family Welfare on the occasion
of World Toilet Day 2022.

2. Its objective is to rejuvenate public and
community toilets in rural and urban areas of
the country.

3. The campaign has five thematic areas.
Which of the given given above statement(s) is/
are correct?
(b) 2and 3
(d) 1,2and 3
Consider the following statements in the context
of Digital Shakti Abhiyan 4.0:

1. The campaign was launched by the Ministry

(a) 2only
(¢) 3only

of Information and Broadcasting.

2. Ithas been launched in association with Peace
Foundation and META.

3. This campaign is a pan India project to
digitally empower and skill women and girls
in the cyber sector.

Which of the given above statements are correct?
(a) 1and?2 only (b) 1 and 3 only
(¢) 2and 3 only (d) 1,2 and 3

Consider the following statements with reference
to Bali Yatra:
1. Itis one of the biggest open-air fair in India.
2. Itis organized annually on the banks of river
Godavari.
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64.

65.

66.

67.

5 The Vision

3. 9% W wfan ok sfao-gd ufeen & =
el g Heel i gl wa 2

STdE wAl W W wE-9 T 7?2

(a) wae 1 3R 3 (b) e 1 3R 2

(c) o 2 3N 3 d 1,2 33

‘et dfe gAY @ wed § fretfetad

ol W fo=m FifSa:

1. 98 ST wRY I I w6 fewm 2

2. IIT 95 3R Ry feg favafammem (BHU)
™ wEFH & fod q Frataga eifgar §)

3. T & H USRI A™SH IRt H OfEn
T R

SwdE w9 9 SE-FUA T 22

(a) waa 1 (b) 2 3R 3

(c) ee 3 (@ 1,2 3R 3

e @ & ded H frefafed FoAl ) fomm

HIfS:

1. 9% ST & STfed el a9 1 WA ol

2. 3T THE F AEHIA q&sl o AW H S
S 21

ST He W W HHA-A TE B2
(a) ®aa 1 (b) Had 2
(c) 1 3R 2 < (d) Td 1 T2

‘qred ween’ & el o frefafed wum W

fo=m =wifs:

1. =8 el Sohd § I g3 UGl B, S AHAR
T g (I TSNE) § WM 9 S| S 2

2. 39 sdmifesh ehd (GI) o7 fien gan 2|

ST woAl § 9 HA-T/A T 22

(a) Had 1

(b) Had 2

(c) 1 3R 2 <

(d T 1 AT 2

‘e’ & gay # frAfafed we | faEr

Hifer:

1. EHAT 9l “Seqe’ A § S ], S smerrdt
qHY & ol W B @

2. Fed WYY Hi LG & AUl SN gR
et S arelt =it SR ¥ ura fema
ST 21

ST HeH H W HHA-A TE B2
(a) &9 1 (b) e 2
(c) 1 3R 2 g (d) Td 1 T2

64.

65.

66.

67.

3. It reflects the age-old links between ancient
Kalinga and South-East Asia.

Which of the given above statements are correct?
(a) 1and3 only (b) 1and 2 only
(c) 2and3 only (d) 1,2and 3

Consider the following statements with reference
to 'Kashi Tamil Sangamam':

1. This program is part of the Swadesh Darshan
scheme.

2. IIT Madras and Banaras Hindu University
(BHU) are the two implementing agencies
for this programme.

3. Recently it has been organized in Varanasi.
Which of the given given above statement(s) is/
are correct?
(a) 1only
(c) 3only

(b) 2and 3
(d) 1,2and 3
Consider the following statements with reference
to Afzal Khan:
1. He was the commander of the Adil Shahi
dynasty of Bijapur.
2. His tomb is known as Afzul Buru;.
Which of the given given above statement(s) is/
are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements with reference
to 'Patan Patola':
1. TItis adouble ikat woven fabric, usually made
of silk in Patan (North Gujarat).
2. It has got Geographical Indication (GI) tag.

Which of the given given above statement(s) is/
are correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements regarding
'Pashmina':

1. Pashmina shawls are made from 'Shahtush'
wool, which is obtained from the hair of the
Changthangi goat.

2. Raw Pasham is obtained from Changthangi
goats reared by Changpa tribe of Ladakh.

Which of the given given above statement(s) is/
are correct?
(a) 1only
(c) Both1and2

(b) 2 only
(d) Neither 1 nor 2
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68.

69.

70.

71.

72.
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IRURSE a6 well & ded H fAfated g |
foar wifs:

(U ae ) (&)
1. S A — TGS
2. Bl — AYcYeSTH
3. dg fesmeA — I
Sude gl o W fohae g wet gufea €2
(a) % f g & (b) FIA T TH
(c) ®ad qA JH (d) Tt i+ g

e WEeR freAfafed & 9 few SHenfa o
Heiferd 272

(a) e SHSIfa (b) el SISId

(c) e SIfd (d) o& SESIa

‘FiTen 7' & Hed # fAfafed weEl W foem

EAISPE

1. aTen i BieTd 3ifF g3 g9 & ®9 H
off S ST 2

2. TN SAIfEETE THE™ & §&H ATl I hid
2

3. e ER & WEM % S § JE S 2

SE FUA § 9 ®E-9 T 22

(a) o 1 3R 3 (b) e 1 3R 2

(c) o 2 3R 3 (d 1,2 33

C-295 qfEe faum & ded ¥ fr=fafaa wemt

R fa=r wifsa:

1. C-295 THEMfgs® qh-ih & @Y 5-10 A
&7l 1 IReEA fame 2

2. 7 frafid w9 9 & & e e o eiR
T o gz ¥ dee, i & fod gem R

3. T & A gy H sgwt i s a6
SRR W TE|

ST el § 9 wA-A/A TE 2R

(a) 1 3R 3 (b) 1 3R 2

(c) od 3 d 1,2 33

St e & Ted H fraAfafad wedi ™

fo=m =wifs:

. 9 94, Hisitaeh SR qoian w1 st
% o9 OgH G e B

2. THH STESH q=n & SR UE AW H
fora T

SwdE wUA W 9 SE-FUA w1 27
(a) *ad 1 (b) Faa 2
(¢) 1 @2 =H (d Fa 1 RTE2

68.

69.

70.

71.

72.

With reference to traditional textile art, consider
the following pairs:

(Traditional Clothing) (Area)
1. Jamdani Weaving  — Lucknow
2. Chint — Masulipatnam
3. Bandanna Design  — Kolkata

How many of the given above pairs are correctly
matched?

(a) None of the pairs  (b) Only one pair

(d) All the three pairs

The Mangarh massacre is related to which of the

(c) Only two pairs

following tribes?
(a) Bhil tribe (b) Santhal tribe
(c¢) Gond tribe (d) Tharu tribe

Consider the following statements with reference
to 'Wangla Dance":

1. Wangala is also known as the Festival of
Hundred Drums.

2. Members of the Garo tribal community
perform the Wangla dance.

3. This festival is celebrated in honor of the Sun
God.

Which of the given above statements are correct?
(a) 1and3 only (b) 1 and 2 only

(c) 2and3 only (d) 1,2and 3
Consider the following statements with reference
to C-295 transport aircraft:

1. The C-295isa5-10 ton transport aircraft with
contemporary technology.

2. It is capable of undertaking routine combat
operations in the desert during the day and at
sea at night.

3. The foundation stone of its manufacturing unit
at Vadodara was laid recently.

Which of the given given above statement(s) is/
are correct?
(a) land3
(¢) 3only

(b) 1and?2
(d) 1,2 and 3
Consider the following statements with reference
to IMT Trilat:
1. It is a joint maritime exercise between the
navies of India, Mozambique and Tanzania.
2. It was organized in Dar es Salaam, Tanzania.

Which of the given given above statement(s) is/
are correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
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73. YRA 3R WG % Tey frefaied § 9 #H-9 991 | 73. Which of the following military exercises are
g R S 22 conducted between India and France?
1. &S 2. U 1. Gal'uda 2. Varuna
3. W‘W 4. T T2 z 1\)lag'r.a Prahar 4. Desert Night
. Power
5. IR
Select the correct answer using the code given
F= f@ T e A TEE R SW g below: s ¢
(@) 1,2,4 35 (b) Fom 2 33 (@) 1,2,4and5 (b) 2 and 3 only
(c) ®a@ 1,3 3RS (d) 1,2,3,4 35 (¢) 1,3 and5 only (d) 1,2,3,4and 5
74. frefofed g W famr it 74. Consider the following pairs:
(e /SASITE TT) (=) (Folk/Tribal Dance) (State)
1. @ifen — i 1. Khoria — Haryana
2. gHEIA — S| 3T HIHER 2. Dumabhal — Jammu and Kashmir
3. 'q,)—rlg':‘[ o Tﬁa‘r 3. Fugdl — Goa
4 TS T 4. Garudi — Telangana
5. 9 3 5. Theyyam — Kerala
. 6. Raut Nach — Jharkhand
6. Tsd A o 7 Bhl(l)rtal — Meghalaya
7. *RaTE . EISE| '
. ) Which of the given above pairs are correctly
3q§i5ﬁ 'ﬂ'”:ﬁ ¥ 9 $H-9 EErd ﬂﬁi(_*lf %7 matched?
(a) Fa@ 1,2,3 &R 5 (2) 1,2,3and 5 only
(b) e 1,2,3,6 3R 7 (b) 1,2,3,6and7 only
(c) ®a 3,5, 6 AL 7 (¢) 3,5,6and7 only
(d 1,2,3,4,5 6 3R7 (d) 1,2,3,4,5,6and7
75. a9 2022 % Aieel [WERR & Hed o fefefga | 75. Withreference to the Nobel Prize for the year 2022,
W R fER FE: consider the following pairs:
I G A e e 1. Arthashastra — On Banks and Financial
’ O Crisis for research
2. Medicine — Extinct Hominins and
2 — q U : Humans in the genome of
A % el evolution for research
o & for 3. Physics — For Working in Quantum
3. <ifaeRt —  Fien ATt § & wE Mechanics
+ fe 4. Chemistry  — For Click Chemistry and
4. TEEH — oo e @i development of
ST & fae™ bioorthogonal
D How many of the given above pairs are correctly
c oy : tched?
S 7 ° @ T wE gafed 22 ma
(a) B T oI (b) F = I (a) Only one pair. (b) Only two p.airs
. (c) Only three pairs  (d) All four pairs
(c) ®ad q= FH (d) |t = g _
. | 76. Who among the following has been awarded the
76. = 2022 1 AT F T IR e o Nobel Peace Prize for the year 20227
o ford e T 1. Ales Bialiatsky
1. e fenferresnt 2. Russian Human Rights Organization
2. ®H AMAMYHR W&T HANREA Memorial
3. ¥R wR fafga faaeis (?{%'Lwl) 3. Center for Civil Liberties (Ukraine)
4. ToH TEE Ellen Aspect
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F= f@ T HE w1 TE W EE SW g

(a) ol 1 3R 3 (b) 1,2 33

(c) wad 2 3R 4 (d) ot 4

‘grRATen wREEE’ & ey § fEfatead weEt

R fa=r wifsa:

1. U SEYd Shael 9Rd AR feo-gd i
T ST ST TehT <90 & ofte T sAaR wwl
1 g ot w2

2. UNRHIE HT¥HH % qed derd WA
e W@ weHl ¥ W T 2

ITE wedl § 9 HA-A/A "E 2R

(a) ®ad 1 (b) ®ad 2

(c) 1 &R 2 g (d Ta 1 RTE2

‘ETATy faseia’ & ded # frefafed weml |

fo=r wifsa:

1. THH A9 FAEeE fhTen ¥ Wik T 9Rd
% gl faHeTEs Uid % ™ W @l T 2

2. I8 WNA 1 gl @Ryl w9 9 fewd @i
fafifa femmamees 9 2

ITE wedl § 9 wA-T/A T 2R

(a) ®aa 1 (b) Had 2

(c) 1 &R 2 g () Ta 1 RTE2

ffafed wol W foeR Fifs:

1. YRAE T Sprae &1 s ettt
1956 & Tgd ‘IR-a9hr’ HOH & ®9 §
yfeer feman T 2

2. WX T qraH e aRdg o |
(RBI) 3R 9Rea % & (IBA) %1 TH
TIH TEA T

3. JMFES UHeH SeThd Tehldl A Hal
TH 3= HERT 2

4. IHES UHH 3HY 1 a9 2016 H T9EA
sfferde foeafin e=y g af-= fhan

ol
SUgH weAl § W wH-G/d T 22
(a) o 1 3R 3 (b) 1,2 3R 3
(c) o 2 3 4 (d) waa 4

‘T fefseat @ favm’ & gew | fefafed

FeAl W =R Fifee:

1. fefsicar wiewid #i By oméet iR fesht
TlFX & T di=a T = o

2. W UWE e Wiuewor (NHA) gR
SHrEiferd fean S 2|

77.

78.

79.

80.

Select the correct answer using the code given
below:

(a) 1and3 only (b) 1,2 and 3

(c) 2and4 only (d) 4 only

Consider the following statements regarding the
'Sagarmala Programme':

1. It aims at overall development of maritime
trade routes only between India and South-
East Asian countries and African countries.

2. Coastal community development is one of
the major components under the Sagarmala
programme.

Which of the given given above statement(s) is/

are correct?

(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2

Consider the following statements with reference

to 'INS Vikrant'":

1. It is named after India's first aircraft carrier
purchased from the United Kingdom.

2. It is India's first indigenously designed and
built aircraft carrier.

Which of the given given above statement(s) is/
are correct?

(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements:

1. National Payments Corporation of India
has been incorporated as a 'not-for-profit'
company under the Companies Act, 1956.

2. National Payments Corporation of India is a
joint initiative of the Reserve Bank of India
(RBI) and the Indian Banks' Association
(IBA).

3. Unified Payments Interface is an advanced
version of the instant payment service.

4. Unified Payments Interface was launched by
the National Automated Clearing House in
the year 2016.

Which of the given given above statement(s) is/
are correct?

(a) 1and 3 only (b) 1,2 and 3

(¢) 2and4 only (d) 4 only

Consider the following statements regarding
'National Digital Health Mission":
1. The digital platform was launched with Health
ID and Digi Doctor.
2. It is implemented by the National Health
Authority (NHA).
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I wul B 9 IEA-TY T B/e? Which of the given given above statement(s) is/
(a) @ 1 are correct?
F (a) 1only
(b) 2 . (b) 2only
(c) 1 3R 2 <A (¢) Both1and?2
(d JTa1 AR T2 (d) Neither 1 nor 2
81. Frefafad gl W fomm Fifm: 81. Consider the following pairs:
. . Countries/Territory Inthenewsrecently
ENVEED T € W T ¥ e ,
important reason for
T HETAYUT HINUT 1. Qatar —  22nd FIFA World Cup
1. @ — 229 WI®I 9e8 Y &I Organisation
i 2. Cambodia —  19th ASEAN Summit
i . organise
2. — 199 fe RTar. ww e 3. FEthiopia —  Agreement between the
T AT Ethiopian government
3. zdEfEr —  cPrefeR weR ek fo and the Tigray rebels
fagifedl & weg gugia How many of the given above pairs are correctly
. ) matched?
3 Et E W 7 ¥ fobe I TR gAfer 7 (a) None of the pairs  (b) Only one pair
(a) B ft 9 T (b) HaA TH FH (c) Only two pairs (d) All three pairs
(c) ®ad g W (d) gt = g 82. Consider the following pairs:
. Report Issuer
82. ffafad @ | fo=r FifvE: C : :
1. Emissions Gap — United Nations
i SRt Report Environment
1. SeasH g ol — HgF T TR Program
FrEFT 2. Adaptation Gap — World Economic
o Report Forum
2. IFgheM 9 U — o€ s wiRA . . .
& 3. Food and Agriculture — United Nations Food
3. @ SR FY e — wgs e mm ek Report and Agriculture
HY FeA Organization
S ST P & gafer ) How many of the given above pairs are correctly
W ) I matched?
(a) & ft gu T (b) HaC @ ™ (a) None of the pairs  (b) Only one pair
(c) ®aa ™ (d) aft = IJH (c) Only two pairs (d) All the three pairs
83. frefafaa & @ fa <o o & @ ot 7 83. Through which of the following countries does the
Tropic of Cancer pass?
1. &R 2. =
1. Oman 2. China
3. tferm 4. e 3. Libya 4. Taiwan
RERECRILY °he I T F TE IW ﬂﬁ'ﬁ: Select the correct answer using the code given
(a) ol 1,2 3R 4 (b) et 1,2 3R 3 below:
S (a) 1,2and4 only (b) 1,2 and 3 only
©) 3AR4 (@) 1,23 R4 (¢) 3and 4 only (d) 1,2,3and 4
84. Frefefad el T fomm wifs: 84. Consider the following statements:
1. 21 e @R 23 fodar =i g 1 fReol ofeeaq 1. OnMarch 21 and September 23, the sun's rays
et ¥ zofe '{:I"{U‘f geat W 7 wH W fall vertically, so day and night are equal all
Y over the earth.
) ) 2. On June 21, the sun's rays fall vertically on
2. 21 S w1 gd H R Fh W W e the Tropic of Cancer. This condition is called
TSl B 3 AR HI IR SIA FEd 2 Uttar Ayananta.
3. 2] Rga Tﬁ F1 R0l T T R T 3. On December 21, the sun's rays fall vertically
> Feorfir § Tt e on the Tropic of Capricorn. In this situation,
gﬁ—;ﬁ ;l & | # i # there is winter season in the northern
| hemisphere.
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STfE FUAl § 9 ®A-9 T 22

(a) ol 1 3R 3 (b) e 1 3R 2

(c) wad 2 3R 3 (d 1,2 3R 3

TR TN & Hed § Frfafea werl W foen

Hifer:

1. 'P' T H ®UT wI XM WA ®H RO HT
feen & HHAT B 2

2. 'S @t o gered § et B, eH SUR |
Td & 2l

3. 'S T ged A formwend gt ¥ ifn
T el T faRere g 2

4. 'S A oA WP A W Teed TEel B

STE wAl § W wE-9 T B2

(a) o 1 3R 2 (b) 2,3 3 4

(c) 1,3 3N 4 (d) 1,2 N 4

frfafed & & 9% geat W 9 §IH are adl

1 WE TR 2

1. ST 2. @@t

3. fafees 4. HrifeEm

F= K MU FH F TEN TR IW G

(@ 2>1>3>4 (b) 1>2>4>3

(c) 2>3>1>4 (d 1>2>3>4

foreifafaa o @ #F SYdRa we2H $2

1. IR 2. S TR

3. TRE 4. gderga

= fed T w2 F W@ F G IR I

(a) 1 3R 2 (b) 2 3R 3

(c) 3 3 4 (d) 1 3R 4

AR o HEEIGE T i fagia % yEl &

Ffqta shF-9 i &2

1. Sreclifeh WETNR & S a2l & ehfereltam
o eHiaA Tdd A o THH

2. fearse feArt favor 9 s ft steraEl =g

3. fur stedifesd WEMTR & del W feem
AT IR SIS i G 9 Fe2H o
e

= fed T w2 * T F G IR g
(a) e 1 3R 3

(b) wae 1 3R 2

(c) wad 2 3R 3

@ 1,2 33

85.

86.

87.

88.

Which of the given above statements are correct?
(b) 1 and 2 only
(d) 1,2and 3

With reference to seismic waves, consider the

(a) 1and3 only
(¢) 2and 3 only

following statements:

1. The direction of vibration in 'P' waves is
parallel to the direction of propagation of the
wave.

2. The'S' wave creates bulges and troughs in the
material through which it passes.

3. 'S' waves are most destructive because they
cause displacement of rocks.

4. 'S waves reach the surface before 'P' waves.

Which of the given above statements are correct?
(a) 1and2only (b) 2,3 and 4
(¢) 1,3 and4 (d) 1,2and 4
Which of the following is the correct sequence of
all the elements found on earth?

1. Oxygen 2. Iron

3. Silicon 4. Magnesium

Select the correct answer using the code given
below:

(a) 2>1>3>4 (b) 1>2>4>3

() 2>3>1>4 (d 1>2>3>4

Which of the following are metamorphic rocks?

1. Graphite 2. Sandstone

3. Granite 4. Serpentine

Select the correct answer using the code given
below:
(@) land2 (b)2 and 3
(¢) 3and4 (d)1 and 4

Which of the following are included in the evidence
of Wagner's theory of continental drift?

1. Similarity between the Caledonian and
Hercynian mountain ranges of both the coasts
of the Atlantic Ocean

2. Sedimentary rocks formed from tillite glacial
deposition

3. Similarity in structure and rocks of Africa and
Brazil located on the coasts of South Atlantic
Ocean

Select the correct answer using the code given
below:

(a) 1and3 only

(b) 1and2 only

(¢) 2and3 only

(d) 1,2and3
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3 922 & Hed # fAfafead el W fo=r

o

1. 78 T Wd ed, HSR Huewh TF oA
eq et 2l

2. T WM R TEEAE 39 T §gd Aeh
He T

STde oAl § 9 wA-T/A T B8

(a) ®aa 1

(b) Had 2

(¢) 1 @ 2 =H

(d) Fd 1 A2

FAANG FeeH & ded § fefafad we ®

fo=m wifs:

1. g1 fmfor a9 iR g@ &1 fRar & @R
g 21

2. g gaifdsw HSR =u2H 2l

3. 3Od Sfaww 9 S gl

S el ¥ W HA-9 T 2?2

(a) e 1 3R 2 (b) et 2 3R 3

(c) wad 1 3R 3 (d 1,2 3R 3

TRUT TN & AT © gealt Hi Aaies Ga

% ged o fmfafed wol W foer #ifsa:

1. MBS & WY Yeal &1 SaRle wee &
T ° gig et 2l

2. geelt Y G W SfEa 100 TRt et e
% qEET T & A1 H FH A 2

3. o e @ gedE aal faefaa g €, o8t
IEagal &5 1 TR B 2l

STE oAl § 9 HA-T/A T 2R

(a) Faa 1

(b) a2 3R 3

(c) Weel 1 3R 3

(@ 1,2 33

frafafeg w foer w3

1. U ST*R &t =&t 2. degfyren

3. feat H=m 4. AT

SEE W @ wE-9 fEuE T gm eTwRiEa
TRl 1 s €2

(@ 1,2 33

(b) ot 3 3R 4

(c) e 1 3R 2

(d 2,3 34

&89.
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92.

With reference to igneous rock, consider the
following statements:
1. Tt is without thick layer, hard component and
without fossils.
2. Chemical weathering has a great effect on
these rocks.

Which of the given given above statement(s) is/
are correct

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to metamorphic rocks, consider the
following statements:
1. They are formed due to the action of heat and
pressure.
2. These are the hardest rocks.
3. Fossils are found in it.

Which of the given above statements are correct?
(a) 1and?2only (b) 2 and 3 only
(¢) 1and3 only (d) 1,2and 3

With reference to the internal structure of the Earth
through seismic waves, Consider the following
statements:

1. The density of the Earth's interior rocks
increases with depth.

2. The velocity of seismic waves decreases up to
an average depth of 100 km from the surface
of the earth.

3. The place from where the seismic waves
deviate, there develops an unconformity zone.

Which of the given given above statement(s) is/

are correct?

(a) 1only

(b) 2 and 3 only

(¢) 1and3 only

(d) 1,2and3

Consider the following:
1. U shaped valley 2. Roche Mountonne

3. Till Maidan 4. Drumlin

Which of the given above are the development of
landforms eroded by glacial river?

(@) 1,2and3

(b) 3 and4 only

(¢) 1and?2only

(d) 2,3and4
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frefafed seemfeal w faar #ifse:

1. feemsh 2. ISR

3. TS U 4. HE gead

UG SeregiEEl § ¥ iA-9 9 serengEt 82
(a) e 1 3R 3

(b) 1,3 3R 4

(c) wad 2 3R 3

(d) wad 4

qeaft % wie & U3y | fAfafed swerl W faar

HIfS ¢

1. 9ot 1 o wie Wl FEEd H ¥ oael
AR i W raen § 2

2. geelt 1 i Tifehed W @i © & @)

Suge woAl § ¥ hE-qUd Tl R

(a) ®aa 1

(b) Fad 2

(¢) 1 2 2 =F

(d) Td 1 A2

frfefag & @ #H-9 wets w9 9 i

T Tl H Te 272

1. < TR 2. HE hi TELH

3. el 4. TreTs

5. @fean

= fed T w2 * W@ T IR g

(a) ®ad 1,2 AR 3 (b) el 1,3 &R 5

(c) I 2,435 (d) 1,2,3,43R5

frefafad § 9 #iA-9 afdd vdd & Sgew 82

1. dE-39 2. 9rErE ot

3. fes 4. wza™

= f&@ U He W gEE R WS SW g

(@ 1,3 3R 4 (b) Fae 3 3N 4

(c) e 1 3R 2 (d) 2,3 3R 4

forerfefan g W R iR

1. € &1 BEH - HRUYEA u e
EUH & T

2. HYfeA #eH — W % SW-7d feed

3. deiel fgH — WM % gehel g &
et o | feera

Sufm gl o 9§ forad g we gufea 82

(a)ﬁéﬂﬂgﬂ?‘—!ﬁ

(b) #adA TH W

(c) ot & g™

(d) 9t = gm

93.
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95.
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Consider the following volcanoes:
1. Chimbrazo 2. Cotopaxi
3. Mount Popa 4. Koh Sultan

Which of the given above mentioned volcanoes
are silent volcanoes?
(a) 1and 3 only
(b) 1,3and4
(¢) 2and 3 only
(d) 4 only
With reference to the core of the earth, consider
the following statements :
1. The outer core of the earth is in liquid state
and the inner core is in solid state.
2. Earth's core is made of nickel and iron.

Which of the given given above statement(s) is/
are correct

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Which of the following is a group of organically
formed sedimentary rocks?

1. Limestone 2. Salt rock

3. Coal 4. Potash

5. Alabaster

Select the correct answer using the code given
below:

(a) 1,2and 3 only (b) 1,3 and 5 only

(c) 2,4 and 5 only (d) 1,2,3,4and 5
Which of the following are examples of fold
mountains?

1. Nan-Shan
3. Pyrenees

2. Wasatch range
4. Atlas

Select the correct answer using the code given
below:

(a) 1,3and4 (b) 3 and 4 only

(¢) 1and2only (d) 2,3 and 4

Consider the following pairs:

1. Hungarian Plain — Between the
Carpathians and the
Dinaric Alps
Located in the north-
east of China
Located in the eastern
partof Hokkaido Island
of Japan

2. Manchurian Plain —

3. Kwanton Plain —

How many of the given above pairs are correctly
matched?

(a) None of the pairs

(b) Only one pair

(c) Only two pairs

(d) All the three pairs
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frefafea & o #F-w1 gafad T2t 22

(a) 3 g - W%

(b) d=H A —  Seefe

(c) AR e - =H

(d) fefewmm s -  ds-aifafa
T9 H I IR IR YA HNHI B i
e 82

1. SR YT

2. HIReAfad I

3. qraEH

4, AMTHEE @R

5. HUA &
F= e MU FH H YA TR IW g

(a) ®aei 1,2 AR 3 (b) Haed 1,3 35
(c) ®ac 2,4 35 (d) 1,2,3,4 35
foreferfan gl W fomm S
T qa= wefaa oF
1. ®F — o Yed & ST
Gl W
2. forfreet - enefern
3. fogw — WF 9 %G F N &
4. fauest —  U3al ea
Swde el o W o wE gafea ©2
(a) oel TH TH
(b) Haa 3 IH
(c) ®ad g
(d) |+t =i =

98.

99.

100.

Which of the following is not correctly matched?

(a) Lake Urmia —Iraq

(b) Bostak Lake — Antarctica
(c¢) Lopanor Lake — China

(d) Titicaca Lake — Peru-Bolivia

The origin of wind and its flow are included under
the factors?

1. Air pressure gradient

2. Coriolis force

3. Temperature

4. Centripetal acceleration

5. rotating force

Select the correct answer using the code given
below:

(a) 1,2and 3 only (b) 1,3 and 5 only

(¢) 2,4 and>5 only (d) 1,2,3,4and 5

Consider the following pairs:

Local wind Related area
1. Fawn — On the northern slope of
the Alps
2. Brickfielder — Australia
3. Mistral — Plateau region of
Spain and France
4. Siraco — Saudi Arabia

How many of the given above pairs are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs
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